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O IHTIEFEHEEIR I,

@O 20 X 3 - 10 X X 3 - |0 X -

@ 40 X 5 -> |10 X X 5 > |0 X -

@ 80 X 6 - |0 X X 6 —=> |0 X -

@ 200 X 4 -> 100 X -

® 400 X 5 -> 100 X -

2 O I2HTIEFEHEESTR IV,

@O 36 X 3 lI. 30 X ¥y 6 X r &bty
B LCTY,

@ 48 X 6 &, 40 X ¥ 8 X FRox o Wit @
B LCTY,

® 502 X 7 lZ. 500 X ¥y 2 X e ORI EE
YELCLTY,

@ 254 x 3 &, 200 X ¥ 50 X ¥

4 X TEhELEBEELTY,
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O IZHhTEFEHEEETRIV
20 X 3 - |0 X|2|x 3 = 1|0
40 X 5 - 10 X |4 | X 5 = 10
80 X 6 - 10 X|8| X 6 = 10
200 X 4 - 100 x| 8 800
400 X 5 - 100 X |20 2000
O IZHTTFEEEE IR T,
36 X 3 |, 30 X | 3 6 X
BT,
48 X 6 I, 40 X | 6 8 X
BT,
502 X 7 I, 500 X |7 y 2 X
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254 X 3 |Z. 200 X | 3 ¥ 50 X
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